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BrR I E S Taylor BRI (1/3)
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BrR I E S Taylor BRI (2/3)
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— RITEIGEFIER (4/7)
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— RIcEMEHIE (5/7)
EI—RARRXORE HHMRE(3)
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— R BB HFEK (6/7)

B —RAFINDORRE TE

190

¢ SOR(Successive-Over Relaxation) ;%
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— RITEMERIEK(7/7)
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7 )La—F - —RaxBEEFRER
intro.tarMHZH S

FORTRAN C

heat jacobi.f heat jacobi.c
heat gs.f heat gs.c
heat sor.f heat sor.c

input.dat, cinput.dat

50 N Ay a
1.40 1.d0 dx, BF Ayoalg, (KRiERE=
50000 ITERmax AR E B

1.4-7 -1.00 EPS, OMEGA FTUIERZE, SORMDw
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E17H1: Jacobiik (/ja)

1000 iters, RESID= 3.911949E-01 PHI (N)= 4.724513E+02 e E %

2000 iters RESTD= 2 350938 F_-01 PHTI(N)= 7 74A137FE+02 N

3000 iters, RESID= 1.406316E-01 PHI (N)= 9.555996E+02 BREE

25000 1 . : . 9(50)
iters, RESID= 2.213721E-07 PHI (N)= 1.225000E+03

30000 iters, RESID= 1.324140E-07 PHI (N)= 1.225000E+03

30548 iters, RESID= 9.991504E-08 PHI (N)= 1.225000E+03

1 0.000000E+00 0.000000E+00 % B 4 gm

2 4.899999E+01 4.900000E+01 WiskE, MR

3 9.699999E+01 9.700000E+01

4 1.440000E+02 1.440000E+02

5 1.900000E+02 1.900000E+02

41 1.180000E+03 1.180000E+03

42 1.189000E+03 1.189000E+03

43 1.197000E+03 1.197000E+03

44 1.204000E+03 1.204000E+03

45 1.210000E+03 1.210000E+03

46 1.215000E+03 1.215000E+03

47 1.219000E+03 1.219000E+03

48 1.222000E+03 1.222000E+03

49 1.224000E+03 1.224000E+03

50 1.225000E+03 1.225000E+03

=72

1

17

49° +49.5x 49 = —1200.5+ 9850.5 =1225
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E17H: Gauss-Seideli% (./gs)

1000 iters, RESID= 4.591084E-01 PHI (N)= 7.785284E+02
2000 iters RESTD= 1T 642708F -01 PHT (N) = 1T OAR5250FE4+03
3000 iters, RESID= 5.877313E-02 PHI (N) = 1.167848E+03
14000  iters, RESID= 7.227382E-07 PHI (N) = 1.224999E+03
15000  iters, RESID= 2.585828E-07 PHI (N)= 1.225000E+03
15925  iters, RESID= 9.993005E-08 PHI (N)= 1.225000E+03
1 0.000000E+00 0.000000E+00 * o

2 4.899999E+01 4.900000E+01 BIERE, PRATRE

3 9.699999E+01 9.700000E+01

4 1.440000E+02 1.440000E+02

5 1.900000E+02 1.900000E+02

a1 1.180000E+03 1.180000E+03

42 1.189000E+03 1.189000E+03

43 1.197000E+03 1.197000E+03

44 1.204000E+03 1.204000E+03

45 1.210000E+03 1.210000E+03

46 1.215000E+03 1.215000E+03

a7 1.219000E+03 1.219000E+03

48 1.222000E+03 1.222000E+03

49 1.224000E+03 1.224000E+03

50 1.225000E+03 1.225000E+03

[z 18 81 %%
RAERE
¢(50)
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#H## OMEGA=

1000 iters, RESID=
1091 iters, RESID=

19

£474]: SORE (./sor)

1.881838E+00
4.921991E-07 PHI(N)=
9.923362E-08 PHI (N) =

OMEGA(CMIi5& (&
i (E)

1.225000E+03
1.225000E+03

1 0.000000E+00
2 4.899999E+01
3 9.699999E+01
4 1.440000E+02
5 1.900000E+02
41 1.180000E+03
42 1.189000E+03
43 1.197000E+03
44 1.204000E+03
45 1.210000E+03
46 1.215000E+03
47 1.219000E+03
48 1.222000E+03
49 1.224000E+03
50 1.225000E+03

HEWOKO

FRRPRPRRRPRRPRRPRRR

.000000E+00
.900000E+01
.700000E+01
.440000E+02
.900000E+02

.180000E+03
.189000E+03
.197000E+03
.204000E+03
.210000E+03
.215000E+03
.219000E+03
.222000E+03
.224000E+03
.225000E+03

R8BI 2K
PN -
¢(50)
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— REMREHE  Jacobiik
heat_jacobi.f (1/3)

1C
1C
1C
1C
1C
1C
1C

1C
1C--

1D Poisson Equation Solver by

Jacobi Method

d/dx (dPHI/dx)
PHI=0@x=0

+ BF = 0

program JACOBI poi

implicit REAL*8 (A-H,O0-2Z)

integer N, ITERmax

real (kind=8) dx, RESID, dPHI, dPHImax, BF, EPS

real (kind=8), dimension(:), allocatable PHI, RHS, PHIO
real (kind=8), dimension(:), allocatable rAD, AR, AL

INIT.

open
read
read
read
read
close

(11, file='input.dat',
(11,*) N

(11,*) dX, BF

(11,*) ITERmax

(11,*) EPS

(11)

status="unknown')

2007-04-18-CS02-b
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— REM=EHFIE : Jacobiik
heat_jacobi.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHI = 0.d0
PHIO= 0.dO
AR 1.d0/dX

AL _ 1.d40/dX

rAD 1.d0/(-2.d0/dX)
RHS= -BF * dX

AL (1)= 0.d0

rAD (1)= 1.d0

RHS (1)= 0.d0

AR (N)= 0.doO

rAD (N)= 1.d0/(-1.d0/dX)

2
d?+BF:O, ¢:O@X:O,%:O@x:xmaX
dx dx

2007-04-18-CS02-b
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— REM=EHFIE : Jacobiik
heat_jacobi.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHI = 0.d0
PHIO= 0.d0
AR = 1.d0/dX
AL = 1.d0/dX
rAD = 1.d0/(-2.d0/dX)
RHS= -BF * dX
AL (1)= 0.d0
rAD (1)= 1.40
RHS (1)= 0.40
AR (N)= 0.d0
rAD (N)= 1.d0/(-1.d40/dX)
(¢, — 20 +
r = 2R+ 01 |y 4 BE XV =0
2
\ AX

(@ —2¢ +¢
P 2@+ﬁleAX+BFXAX=O
\ AX

2007-04-18-CS02-b
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—RXTBEB HF N Jacobijk
heat _jacobi.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHT = 0.d0

PHIO= 0.d0

AR = 1.d0/dX 1

AL = 1.d0/dX : 1, = 3
rAD o 1.d07/C2.d0/ax) A () =—— 2V B (LT ERFRE A
RHS= -BF * dX A (i) ANV AN Y jale D

AL (1)= 0.d0

rAD (1)= 1.d0O

RHS (1) = 0.d0

AR (N)= 0.d0

rAD (N)= 1.d0/(-1.d0/dX)

(¢i+1_2¢i2+¢i—1ijx+BFxAx=o
AX
¢i+1_2¢i+¢i—l_ i _i : i =
AX _(Ax)ﬂ‘l (AXJQJF(AXJQH Bl X AX

AL AD AR RH S 2007-04-18-CS02-b
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—RBEEHFEX  Jacobiik
heat_jacobi.f (2/3) :IBER&EHDNE

AR (N)= 0.d0
rAD(N)= 1.d0/(-1.d40/dX)

%:O@X:Xmax — ¢N+1_¢N 'y
0)'4 AX

(¢N+1_i¢'\'2 +¢N1]><Ax+ BF xAXx=0
X

= (_¢N +2¢N1ijx+ BF xAX=0
AX

-1 1
= (0)@y., +| — |oy +| — |#_, = —BF X AX
(0. [ AX}bN ( AX}»M
AL AD AR RHS

IR R E TSR AN RAL
I H=HIZIE, o, ,=0,F
=9 O R E G E
RRHLHEHMENRL

2007-04-18-CS02-b



616-2057/616-4009 25

— REMREHE : Jacobiik
heat_jacobi.f (3/3)

1C
I1C-- ITERATIONS
do iter= 1, ITERmax
dPHImax= -1.d0
do i= 2, N

RESID = RHS(i) - AL(i)*PHIO(i-1) - AR(i)*PHIO (i+1)
dPHI = RESID*TrAD (i) - PHIO (i)
dPHImax= dmaxl (dabs (dPHI), dPHImax)
PHI (i) = PHIO (i) + dPHI : ) ) ) i
enddo ' . RHS(i)— A (i))x¢0(i —1) — A (i) x$0(i +1)
o(i) = :
do i= 2, N A (1)
G T R RHS(i)— A (1) x40(i 1) — A, (i) x 60 +1)
enddo — —1) — ) _
| | { : —¢0(l)}+¢0(')
if (dPHImax.lt.EPS) exit Ab(U
enddo
1
IC-- OUTPUT

Xmax= (dfloat(N-1)+0.5d0) *dX

do i= 1, N 1
XX= dfloat (i-1) *dX _ _ = 2
T = -0.5d0*BF* (XX**2) 4+ BF*Xmax*XX T — ¢(ana|y') T 2 BF X"+ BF XmaX X
write (*,' (18, 2(1lpel6.6))') i, PHI(i), T

enddo

end program JACOBI poi
2007-04-18-CS02-b
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1C
1C
1C
1C
1C
1C
1C

1C
1C--

26

—REREEAFEN :SORE
heat sor.f (1/3)

1D Poisson Equation Solver by
SOR (Successive Over Relaxation) Method

d/dx (dPHI/dx) + BF = 0
PHI=0@x=0

program SOR poi
implicit REAL*8 (A-H,O0-2Z)

integer :: N, ITERmax

real (kind=8) :: dx, RESID, dPHI, dPHImax, BF, EPS

real (kind=8), dimension(:), allocatable :: PHI, RHS, PHIO
real (kind=8), dimension(:), allocatable :: rAD, AR, AL
INIT.

open (11, file='input.dat', status='unknown')
read (11,*) N

read (11,*) dX, BF

read (1l1l,*) ITERmax

read (11,*) EPS, OMEGA
close (11)

if (OMEGA.le.0.d0) then

PI= 4.d0 * atan(1.d0)

OMEGA= 2.d0/(1.d0+dsin(PI/dfloat (N)))
endif

2007-04-18-CS02-b
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1C
1C
1C
1C
1C
1C
1C

1C
1C--

27

— R EHFER : SORE

heat sor.f (1/3)

1D Poisson Equation Solver by
SOR (Successive Over Relaxation) Method

d/dx (dPHI/dx) + BF = 0
PHI=0@x=0

program SOR poi
implicit REAL*8 (A-H,O0-2Z)

integer :: N, ITERmax

real (kind=8) :: dx, OMEGA, RESID, dPHI, dPHImax, BF, EPS
real (kind=8), dimension(:), allocatable :: PHI, RHS

real (kind=8), dimension(:), allocatable :: rAD, AR, AL
INIT.

open (11, file='input.dat',6 status='unknown')

read (11,*) N

read (11,*) dX, BF

read (11,*) ITERmax

read (11,*) EPS, OMEGA .

close (11) (DO)EEEJEﬁE

N =]

if (OMEGA.le.0.d0) then (<0.OMAASNT-FHE)

PI= 4.40 * atan(1.d0)
OMEGA= 2.d0/(1.d0+dsin (PI/dfloat(N)))
endif

2007-04-18-CS02-b
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— R EAFIEX  SORE
heat sor.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHI = 0.d0
PHIO= 0.dO
AR 1.d0/dX

AL _ 1.d40/dX

rAD 1.d0/(-2.d0/dX)
RHS= -BF * dX

AL (1)= 0.d0

rAD (1)= 1.d0

RHS (1)= 0.d0

AR (N)= 0.doO

rAD (N)= 1.d0/(-1.d0/dX)

2
d?+BF:O, ¢:O@X:O,%:O@x:xmaX
dx dx

2007-04-18-CS02-b
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— R EAFIEX  SORE
heat sor.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHI = 0.d0
PHIO= 0.dO
AR 1.d0/dX

AL _ 1.d40/dX

rAD 1.d0/(-2.d0/dX)
RHS= -BF * dX

AL (1)= 0.d0

rAD (1)= 1.d0

RHS (1)= 0.d0

AR (N)= 0.doO

rAD (N)= 1.d0/(-1.d0/dX)

(9.4=20 +¢ilj><v +BFXV =0
\ AX?

(@ —2¢ +¢
P 2Q2+¢'1JXAX+ BF xAx=0
\ AX

2007-04-18-CS02-b
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—RTREEAEN :SORE
heat sor.f (2/3)

allocate (PHI (N+1), rAD(N), AR(N), AL(N), RHS(N), PHIO(N))

PHT = 0.d0

PHIO= 0.d0

AR = 1.d0/dX 1

AL = 1.d0/dX : 1, = 3
an - 180/ Cala0sany A =—— BIYERFEERRED
RHS= -BF * dX A (i) ANV AN Y jale D

AL (1)= 0.d0
rAD (1)= 1.d0O

RHS (1) = 0.d0

AR (N)= 0.d0
rAD (N)= 1.d0/(-1.d0/dX)

(¢i+1_2¢i2+¢i—1ijx+BFxAx=o
AX
¢i+1_2¢i+¢i—l_ i _i : i =
AX _(ijﬂ‘l (AXJQJF(AXJQH Bl A

AL AD AR RH S 2007-04-18-CS02-b
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—REREEAFEN :SORE
heat sor.f (3/3)

do iter= 1, ITERmax
dPHImax= -1.d0

do i= 2, N
RESID = RHS(i) - AL(i)*PHI(i-1) - AR(i)*PHI (i+1)
dPHI = OMEGA * (RESID*rAD(i)-PHI (1))

dPHImax= dmaxl (dabs (dPHI), dPHImax)
PHI(i) = PHI(i) + dPHI

enddo BF(|)—AL(I)X¢(I—1)—AR(|)X¢O(|+1)

en(:ij.k’g'lo(dPHImax.lt.EPS) exit ¢GS(I) = Ab (|)

1C . . . :
o or}gigz (dfloat (N-1) +0.5d0) *dX ¢SOR(I):¢O(I)+wx[¢65(l)_¢o(l)]
do i= 1, N
XX= dfloat (i1-1) *dX

T = -0.5d0*BF* (XX**2) + BF*Xmax*XX
write (*,' (18, 2(1lpel6.6))') i, PHI(i), T
enddo

end program SOR poi

2007-04-18-CS02-b
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Jacobi&SOR

JACOBI
do iter= 1, ITERmax
do i= 2, N
RESID = RHS(i) - AL(i)*PHIO(i-1) - AR(i)*PHIO (i+1)
dPHI = RESID*rAD (i) - PHIO (i)
PHI (i) = PHIO(i) + dPHI
enddo
do i= 2, N
PHIO (i) = PHI (1) .
enddo &TEODFEﬁq)O)ﬂE‘iZ:%(q)O)
enddo
SOR
do iter= 1, ITERmax
do i= 2, N
RESID = RHS(i) - AL(i)*PHI(i-1) - AR(i)*PHI (i+1)
dPHI = OMEGA * (RESID*rAD(i)-PHI (i))
PHI(i) = PHI(i) + dPHI
enddo
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